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ì¶mdgm{¶H$ {ejm (H$jm -X) nyaH$ narjm, 2024
Vocational Education (Class - X)

Supplementary  Examination, 2024

bodb - {ÛVr¶ df©
Level - II

{df¶ - {ZOr gwajm
Sub. - PERSONAL SECURITY

g_` : 3 KÊQo 15 {‘ZQ>] [ nyUmªH$ : 30
Time : 3 Hours 15 Minutes]      [Max. Marks : 30

Roll No.Zm_m§H$
Sl.No. :

narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …

GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm ©̀V… {bI|&

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^rg^rg^rg^rg^r àíZ hb H$aZo A{Zdm ©̀ h¢&

All the questions are compulsory to attempt.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI|&

Write the answer to each question in the given answer-book only.
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IÊS>-AIÊS>-AIÊS>-AIÊS>-AIÊS>-A
SECTION - A

~hþ{dH$ënr àíZ : [16×½=8]
Multiple Choice Questions :

ghr {dH$ën MwZ|&
Choose the Correct Option.

1) {ZåZ{b{IV ‘| go H$m¡Zgm {b{IV g§Mma Zht h¡? [½]
A) nÌ ~) Eg.E‘.Eg.
g) B© - ‘ob X) ao{S>¶mo
Which of the following is not written communication?
A) letter B) SMS

C) E-mail D) Radio

2) ""{dÚmb¶ ‘| H$b AdH$me ahoJm'', Bg gyMZm hoVw Amn g§Mma H$s H$m¡Zgr {d{Y H$m Cn¶moJ H$a|Jo? [½]
A) B© - ‘ob ~) ’$moZ
g) Zmo{Q>g X) ãbm°J
Which method of communication will you use to inform that "Tomorrow will be a
holiday in school."
A) E-mail B) Phone
C) Notice D) Blog

3) Omo H$m¶© Iwe ahZo Ho$ {b¶o {H$¶m OmVm h¡ dh CXmhaU h¢ …- [½]
A) ~mhar àoaUm ~) Am§V[aH$ àoaUm
g) ì¶mdgm{¶H$ àoaUm X) Cnamoº$ ‘| go H$moB© Zht
Work that is done to be happy is example of :-
A) External motivation B) Internal motivation

C) Vocational motivation D) None of the above

4) bú¶ {ZYm©aU Ho$ ‘m°S>b "ñ‘mQ>©' ‘| "Eg' go VmËn¶© h¡ …- [½]
A) g§{jßV(short) ~) goQ> (set)
g) {d{eï> (specific) X) g‘mZ (similar)
In goal setting model 'SMART' 'S' means :-
A) Short B) Set

C) Specific D) Similar
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5) ............. EH$ BZnwQ> {S>dmB©g h¡ [½]
A) ‘m°ZrQ>a ~) ñnrH$a
g) {àÝQ>a X) H$s-~moS>©
______ is an input device.
A) Monitor B) Speaker
C) Printer D) Key-board

6) noO S>mD$Z Ed§ noO An Hw§$Or CXmhaU h¡ [½]
A) H§$Q́>mob Hw§$Or ~) ZodrJoeZ Hw§$Or
g) E§Q>a Hw§$Or X) H$‘mÊS> Hw§$Or
Page down and page up keys are examples of :-
A) Control key B) Navigation key
C) Enter key D) Command key

7) ""h[aV H$m¡eb'' ‘| em{‘b Zht h¡ ............ [½]
A) OZg§»¶m ~) àXÿfU {Z¶§ÌU
g) n¶m©daU X) dfm© Ob g§ajU
______ is not included in 'Green Skill'.
A) Population B) Pollution control
C) Environment D) Rainwater harvesting

8) ............. Ho$ BñVo‘mb go àXÿfU Zhr hmoVm& [½]
A) gm¡a D$Om© ~) noQ́>mob
g) S>rOb X) Eb.nr.Or.
Use of ________ does not cause pollution.
A) Solar energy B) Petrol
C) Diesel D) L.P.G.

9) Ob AmYm[aV A{¾e‘Z ¶§Ì H$m Cn¶moJ ............ A{¾ ‘| Zht {H$¶m Om gH$Vm h¡& [½]
A) {dÚwV ~) bH$‹S>r
g) H$mJO X) Q>o³gQ>mB©b
Water based fire extinguisher can not be used on _____ fires.
A) Electrical B) Wood
C) Paper D) Textile

10) A{¾e‘Z ¶§Ì Ho$ g§MmbZ ‘| PASS ‘| 'P' go VmËn¶© h¡ : [½]
A) IrM§Zm ~) YHo$bZm
g) {ZMmo‹S>Zm X) nH$‹S>Zm
To operate a fire extinguisher in PASS, 'P' means:
A) Pull B) Push
C) Squeeze D) Pick
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11) àemg{ZH$ ¶m {Z¶{‘V [anm}Q> H$m CXmhaU h¡ : [½]
A) Mmoar ~) ~OQ>
g) AmJ X) h‘bm
An example of administrative or regular report is __________.
A) Stealing B) Budget
C) Fire D) Attack

12) nhMmZ nÌ ‘o§ hmoZm Mm{h¶o ............ [½]
A) Ho$db Zm‘ ~) Ho$db ’$moQ>mo
g) Ho$db OÝ‘{V{W X) Cnamoº$ g^r
_________ must be included in identety card.
A) Only name B) Only photo
C) Only date of birth D) All of the above

13) ............. nm{Hª$J gS>H$ {H$Zmao H$s gmd©O{ZH$ ñWmZm| na g‘ñ¶m CËnÞ H$a gH$Vm h¡& [½]
A) H$moUr¶ ~) S>~b
g) bå~dV² X) g‘mZmÝVa
______ parking can cause problems in public places like road sides.
A) Angle B) Double
C) Perpendicular D) Parallel

14) ~ÝX nm{Hª$J joÌ Ohm± ñWmZ H$s H$‘r hmo dhm± ............ nm{Hª$J H$mo dar¶Vm Xr OmZr Mm{h¶o& [½]
A) H$moUr¶ ~) S>~b
g) bå~dV² X) g‘mZmÝVa
In case of lack of space in an enclosed parking area _________ parking is preferred.
A) Angle B) Double
C) Perpendicular D) Parallel

15) {H$gr H$ma H$m E³grS>oÊQ> hmo J¶m h¡ Am¡a Amn dhm± AÝ¶ bmoJm| Ho$ gmW I‹S>o hmoH$a XoI aho h¡& Vmo Amn ............
^rS> H$m {hñgm h¡& [½]
A) Ano{jV ~) Adm§{N>V
g) {Z¶{‘V X) Cnamoº$ ‘| go H$moB© Zht
A car met an accident and you are watching with other people you are a part of
______ crowd.
A) Expected B) Unwanted
C) Regular D) None of the above

16) ............ JíVr g~go Am‘ h¡& [½]
A) dmhZ ~) Ś>moZ
g) n¡Xb X) hdmB©
________ patrolling is most common.
A) Vehicle B) Drone
C) Foot D) Air
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IÊS>-IÊS>-IÊS>-IÊS>-IÊS>-~~~~~

SECTION - B

A{V-bKwÎmamË‘H$ àíZ… [8×½=4]

Very short answer type questions.

17) g§Mma H$mo n[a^m{fV H$s{OE& [½]

Define communication.

18) AÀN>o CÚ‘r Ho$ Xmo JwU {b{I¶o& [½]

Write two qualities of a good enterpreneurer.

19) {H$Ýht Xmo ì¶{º$JV gwajm CnH$aUm| Ho$ Zm‘ {b{I¶o& [½]

Write names of any two personal protection equipment.

20) {ZOr gwajm JmS>m} H$mo H$B© ~ma {H$g {b¶o AXmbV ~wbm¶m OmVm h¡? [½]

Why are personal guards sometimes called to court?

21) {H$gr EH$ ¶mVm¶mV {MÝh H$mo {M{ÌV H$s{OE& [½]

Draw any one traffic sign.

22) Q́>o{’$H$ {g¾b na {H$VZo àH$ma H$s bmB©Q> hmoVr h¡? [½]

How many types of lights are there on traffic signals?

23) JíVr {H$VZo àH$ma H$s hmoVr h¡? [½]

How many types of patrolling are there?

24) Ano{jV ^r‹S> H$m EH$ CXmhaU Xr{O¶o& [½]

Give an example of expected Crowd.
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IÊS>-IÊS>-IÊS>-IÊS>-IÊS>-ggggg

SECTION - C

bKwÎmamË‘H$ àíZ… [8×1½=12]

Short answer type questions :-

25) g§Mma Ho$ VËd {b{I¶o& [1½]

Write elements of communication.

26) CÚ‘r g‘mO H$mo {H$g àH$ma ‘XX H$aVm h¡? [1½]

How the enterpreneurer helps society?

27) dmhZ AmJ Ho$ Xmo H$maU ~VmB¶o& [1½]

State two reasons of fire in vehicle.

28) H$‘©Mmar nhMmZ-nÌ Imo OmZo na H$s OmZo dmbr H$madmB© {b{I¶o& [1½]

Write the action to be taken in case of loss of employee Identity Card.

29) ¶mVm¶mV {Z¶§ÌH$ H$s H$moB© Xmo S²>¶wQ>r ~VmB¶o& [1½]

State any two duties of traffic controller.

30) nm{Hª$J bm°Q> na H$moB© Xmo H$V©ì¶ ~VmB¶o& [1½]

State any two duties on parking lot.

31) n¡Xb JíVr Ho$ H$moB© Xmo ’$m¶Xo {b{I¶o& [1½]

Write any two benefits of foot patrol?

32) ^r‹S> {Z¶§ÌU Ho$ Xmo Cnm¶ ~VmB¶o& [1½]

State any two remedies to control crowd.
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IÊS>-IÊS>-IÊS>-IÊS>-IÊS>-XXXXX

SECTION - D

{Z~§YmË‘H$ àíZ: [3×2=6]

Essay type questions :

33) H$åß¶yQ>a hmS>©do¶a Ed§ gm°âQ>do¶a H$mo CXmhaU g{hV n[a^m{fV H$s{OE& [2]

Define Computer Hardware and Software with examples.

AWdm/OR

H$åß¶yQ>a ewé H$aZo Ho$ MaUm| H$mo {b{I¶o&

Write steps of starting computer.

34) gr.nr.Ama. H$m dU©Z H$s{OE& [2]

Explain C.P.R.

AWdm/OR

Omo{I‘ H$s J§̂ raVm H$mo dJuH¥$V H$s{OE&

Classify risk according to seriousness.

35) AnamY H$s EH$ Om±M [anmoQ>© H$s VrZ {deofVm¶o ~VmB¶o& [2]

Mention three characteristics of an investigation report of a crime.

AWdm/OR

XþK©Q>Zm Am¡a AmJ H$s [anmoQ>© Ho$ ~rM A§Va ~VmB¶o&

State difference between accident and fire report.


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